Reflectivity / dBZ

(a) cloud 1

Z60 —40 20 0 20
(I L *
11. N
4 TN l I W ]
L_ri -10.0°( .__ll | I| '| l‘l
v |
£
Y4
S 3- *
=
<
2 .
21-02 21-02 21-02
18:00 20:00 22:00
Time / UTC
(c) cloud 4 Reflectivity / dBZ
Z60 —40 20 0 20
3
s
£ 31
Y4
©
©
b=
< |
2 4 |
28-02 01-03 01-03 02-03
19:00 05:00 15:00 01:00
Time / UTC
(e) cloud 6 Reflectivity / dBZ
Z60
5
G 4
©
£
Y4
P
©
s
=
2 L T
08-03 -
09:00 13:00 17:00
Time / UTC

10°

10°

10°

=
o
W

=
o
&

10°

10°

10°

103

10°°

10°

10°

10°

=
o
W

10°°

(b) cloud 2+3
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